TRAILER HITCH MOUNTING INSTRUCTIONS 8359

CATALOG NUMBER ........osmerrunrienmeesressseessessesssssesesssssesmssssesces 217244
APPLICATION ..ottt seeesessne s srnnssaessessse s asesanenns Nissan Pulsar, all models including
NX,
HITCH CAPACITY ..oooerircriviierenenne 1500 pounds gross trailer weight 150 pounds maximum tongue load
OR the maximum load specified by the vehicle manufacturer;
WHICHEVER IS LESS.
PLEASE NOTE: This product complies with safety specifications and requirements for connecting

devices and towing systems of the state of New York and regulation V.E.S.C. V-5.

1. Remove the car’s spare tire. Measure and mark car’s centerline on rear bumper.

2. A piece of the car’s bumper cover must be cut away for the hitch bumper bracket to fit directly against
steel inner bumper as shown. A utility knife will usually work. See diagram.

3. Position the hitch centered and square with the car against bumper and spare tire well as shown. Use hitch
as a template to mark bumper and tire well for hitch screws. Center punch and drill holes marked for 3/8’
diameter screws.

4. Bolt the hitch to the bumper using the fasteners indicated. On NX models a flexible panel may have to be
moved or a small piece cut away for wrench access. Bolt hitch at spare tire well using fasteners indicated.
The 3/8" fender washers MUST go inside opposite the hitch.

5. Final tighten all fasteners as specifed on reverse of these instrucitons. Replace the spare tire. Recheck all
fasteners occasionally for tightness.

FASTENERS:

@ (2)3/8x 1 1/4” screw
(2) 3/8” fender washer
(2) 3/8” lock washer

(2) 3/8” hex nut
@ (4)3/8 x 1 1/2” screw — :tgtfalrégrner
(4) 3/8” fender washer r par

(4) 3/8” lock washer
(4) 3/8” hex nut flexible

bamper cover

_ hitch bumper
bracket

52,

flexible panel NX model only


Administrator

Administrator
217244   




